Medtronic

Engineering the extraordinary

ERgE S E =

R’ OhrEtERemnss

B ETE AR

HHREER

XIZFHEA/ % =B

dinl

. o - S . =Ly i
B BERENEERS EAMES & & R 5RAD 20268180512
2 20 a2 Medtronic Sofamor Danek Manufacturing
RIEABR EHEN (LE) EERRAT

X, ENAHEKRERTR

AESEARFTAMEKRTT

EA 23 021- 20325954

Zh N EXHE 021-20325261

EATAUTREMEMATRELIUERES. T (C1-C7)
FOHE T1-T3 PERRBEEFRE: MM EE B/ e 5m R
i ARELBY, REREARYE RRIESHHNME B

2B E . /1 Bt 2
7R E R T Ny S S S
SR RN RAMER TR, EERNN NS
B B E WIS SR E I AR, BTl ER.
R X FER EH. IMEX LB EIZ 5 —ZRAME
R (D 55 5
P
hE) k. KE 0 BE | SAMR
RBIEE S P E A
= =
(SR A D) SEWR = 0
2022 £ 11 A 7 B, ERNEDS T EBTHEA TN
ST S HCRE R R W T T —FEERGME, 218
P SR, RIERN BN T AP ORISR Tes, X

= CPTi fliE. RBANEMNI ERFZaA, HEBSshiEEM
HEVEZEMHN~WEE. WMHEERW, EEMNFIENRE
HEERBNEDNER N ESTET],

dEfTafEE (BREEAEE

RERZHED A N RIEAFRAMER, KEE, EhEXD

SKFAAMIE A RE) N2,

O &

-

=

= )
L S

Sl

=
7<

~

&

A
W4 EHE: 2023 4£ 6 A




GTIN # Manufacturer’'s Product Lot/

A8 Number/Catalog Number Batch Numbers
~—"%7 H5802981
TLAXAL SCREW 4.0 X 24MM | 00643169554689 3604024 H5802982
H5802983
H5802984
MULTI AXIAL SCREW 4.5 X 32MM | 00643169541856 3604532 H5802985
H5803096
MULTI AXIAL SCREW 3.5 X 20MM | 00643169554436 3603520 H5806331
PARTIALLY THREADED MAS 4.0 X 22MM | 00643169552654 360PT4022 H5806333
MULTI AXIAL SCREW 4.0 X 26MM | 00643169554696 3604026 H5806345
H5808602
MULTI AXIAL SCREW 4.0 X 34MM | 00643169554733 3604034 H5808606
MULTIRIALSOREW'S.3¢ 3OMM 00643169554481 3603530 H5808628
MULTI AXIAL SCREW 4.5 X 28MM | 00643169541832 3604528 H5811986




